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Sub questions

Question Number : 1 Question Id : 6863408599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634034001. 1
68634034002. 2
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68634034004. 4

Question Number : 2 Question Id : 6863408600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634034006. 2

68634034007. 3
68634034008. 4

Question Number : 3 Question Id : 6863408601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634034010. 2
68634034011. 3
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Question Number : 4 Question Id : 6863408602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : S Question Id : 6863408603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Id : 6863408598 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863408599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6863408600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863408601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863408602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863408603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 686340273
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863408604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 6863408604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863408605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863408606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 6863408607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SegdiuTg 9Oy & I 8
A UdD
B. der=eT
C. WRUe
D. §&H
E. Ity
i< fau 7Y fas el o 9 9ad Iuged 3R &1 997 ST
1. HddD.B. A
2. %4adB. C.D
3. HBAAA.C.D

4. PGAD.E.B

Options :
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Question Number : 10 Question Id : 6863408608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863408608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863408609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863408609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863408610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634034045. 1
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Question Number : 13 Question Id : 6863408611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863408612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634034053. 1
68634034054. 2
68634034055. 3
68634034056. 4

Question Number : 14 Question Id : 6863408612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot T a (sl &1 8% T 120 em? T TUT IHS U [de0l &1 THETg, 24 om | SHATS BT URATT (em
) T HifeT -

1. 50

a2
L
[

4.

LN
h

Options :
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Question Number : 15 Question Id : 6863408613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863408613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e 3! B1ibe 31 SR o070 PHT: 710,000 AR 26,000 U1 3T T8 IHS! 314 H 15% B 314 55
AU SHb FG U 8% B gls 53| UG 99 1 g5 gi< uldd e:

1. 20%

| B
-
h

=

L]
[}
]
Ln
2
(=]

4,

L
| )
n
o
[=]

Options :
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Question Number : 16 Question Id : 6863408614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634034061. 1
68634034062. 2
68634034063. 3
68634034064. 4

Question Number : 16 Question Id : 6863408614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863408615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863408615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634034066. 2
68634034067. 3
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Question Number : 18 Question Id : 6863408616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863408616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 6863408617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 6863408617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 6863408618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 7S S § 9 g Ug 91 $e

—1,0,7,26,.63,7,215,342 ...

L]
—
| ]
e

4. 134

Options :
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Question Number : 20 Question Id : 6863408618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 6863408619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forg wifgen Raerst 2. 65 o WPty Ferarsh Hfm=iRg 2022 o1 Afge TR fked § @l 9gs s
1. UEpfd &M
REG e e

3. T YA

| B}

4. Rem gmaE
Options :
68634034081. 1
68634034082. 2

68634034083. 3
68634034084. 4

Question Number : 21 Question Id : 6863408619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferg wfgen Raerst 2. 65 o WPt s Hfa=iRg 2022 @1 Afge TR fied 8 @l ugs s
1. T¥pfd &
feom . gw

3. T U

| ]

4, Req 9=

Options :

68634034081. 1
68634034082. 2
68634034083. 3
68634034084. 4

Question Number : 22 Question Id : 6863408620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 1 1 gE 11 U e sifen

I = 10
(A F 199 1g® e @
A [orar gt 1 U fagH
B. [s{ftysiid geil 11 [gifd
C. [dmemm IHHUH 111 [+]ifde fai=
D. [geeIug g58ER V. [arf=ms
frrafefad faweal & 9 98l 3 &1 997 DI

1. A-II, B-IV. C-1, D-III
2. A-IV, B-11, C-1. D-III
3. A-IL B-IV, C-IIL. D-I
4. A-IILL B-1V. C-1. D-11

Options :

68634034085. 1
68634034086. 2
68634034087. 3
68634034088. 4

Question Number : 22 Question Id : 6863408620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 61 g4t 11 ¥ e sifsy

I = 10

(WA F A1de Ted e @

A [oara g 1. [xarH fagE
B. [3{iteiid auil 11 [=rifd
C. [dean I W 111 [YiTae fasiE
D. [FeeIvrgd ISR IV. |32
frafefad faeedt 3 @ 9t SR o1 997 DI

1. A-II. B-IV. C-I. D-III

| )

CA-TV, B-I1L C-I. D-III
3. A-IL. B-IV. C-II1. D-1
4. A-IILL B-1V. C-1. D-11

Options :

68634034085. 1

68634034086. 2
68634034087. 3



68634034088. 4

Question Number : 23 Question Id : 6863408621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PTG TH.UE.EAS. (MSME ) REBR 2022 BT HYH JREHR Aol I 8T U1
1. 3fFH
fifsam

3. ORI
4, TR UGY

Options :

68634034089. 1
68634034090. 2
68634034091. 3
68634034092. 4

[ S

Question Number : 23 Question Id : 6863408621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PTG TH.UE.EAS. (MSME ) REBR 2022 BT HYH JREHR Aol I 8T U1
1. 3fFH
s

3. ORI
4, TR UGY

Options :

68634034089. 1
68634034090. 2
68634034091. 3
68634034092. 4

[ S

Question Number : 24 Question Id : 6863408622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIE AR e ATl

YT : 518 4d YS! fawor (e & § ga o © 7@ a8 91d i 8 fauiford 8 ot 8. a8
qREeH] USHTR] &1 TR HEardl ol

YT 1 : U1 B gal H Gb1Rl o UREYU & SR 3547 &1 HHiur gl g |

IURIad BYF & Tdid H, Aid (G0 MU [aeedl & 3 9ol 3 &1 984 D Ielg:
1. HYA 1 SR I SH T §

HYA 1 IR I ST SEE

3. BYT 1 9 8. dfte BYT 11 3T &

2

A PYF I Mg AfeT e nga
Options :
68634034093. 1
68634034094. 2

68634034095. 3
68634034096. 4

Question Number : 24 Question Id : 6863408622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R eyafRee

HYT1 : I 4 VDT B! =0T (U § 4 g1 ordd| & a8 d¢ 91d 91 | fauifod g1 ot . 78
qRYEAT UHT2 &1 URET0 Heardl ol

YT 11 : I 1 ga] H U= & URETU & HRUI g4y B1 AU g |

SWRIT PUH & 3MTalies H, A= U MY fddef & 4 T8t SR &1 99 ST
1. HY 1 3R 1 41 9 §

BT AR 11 G ST S

3. PUYT I TA L, AT BUT 11 3T B

| ]

4. BYT I, AT T a8

Options :

68634034093. 1
68634034094. 2
68634034095. 3
68634034096. 4



Question Number : 25 Question Id : 6863408623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZIRI (ISRO) §RI {69 3% & o4 3UUE Ihaagd® PSLV-C53 & 91y 3idfe Han § 9ol 702
1. gad I AT (@ ua U
TR
3. STSiid
4, T
Options :
68634034097. 1
68634034098. 2

68634034099. 3
68634034100. 4

[ ]

Question Number : 25 Question Id : 6863408623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIR[ (ISRO) R {9 42 & iF 3UYUE YH T d® PSLV—C53 & Ty Siqiee def & ol 787
1. g I SRS (G T Y)
TR
3, SISl
4, T
Options :
68634034097. 1
68634034098. 2

68634034099. 3
68634034100. 4

| S

Part B: Pottery Ceramics

Section Id : 686340172
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 686340274
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 6863408624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following creates pink cast?

1. Tin oxide

(]

. Iron oxide
3. Nickle oxide

4, Chrome oxide

Options :

68634034101. 1
68634034102. 2
68634034103. 3
68634034104. 4

Question Number : 26 Question Id : 6863408624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g D 1 e SaHgs g1 6 2

1. fe= sifaares

[ ]

TR MieTgs

3. [od siidgrEs
4. DI AES

Options :

68634034101. 1
68634034102. 2
68634034103. 3
68634034104. 4

Question Number : 27 Question Id : 6863408625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rutile 1s.

1. Prime Titanium oxide

2. Tin oxide

3. Uranium oxide
4, Manganese oxide

Options :

68634034105. 1
68634034106. 2
68634034107. 3
68634034108. 4

Question Number : 27 Question Id : 6863408625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TeRd e 2

1. G eIgcgH siaungs
2. feq silqarss
3. QAT SHiaEEs
4. T Hfqargs
Options :
68634034105. 1
68634034106. 2

68634034107. 3
68634034108. 4

Question Number : 28 Question Id : 6863408626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On burning of Iron oxide to the clay a red color turns.

1. Blue

B

.Red
3. Black
4. Grey

Options :
68634034109. 1



68634034110. 2
68634034111. 3
68634034112. 4

Question Number : 28 Question Id : 6863408626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2T 7 STRA STFTes oo IR ard 31 e §5adi g 2

1. e
2.
3. FIal
4.3

Options :

68634034109. 1

68634034110. 2

68634034111. 3
68634034112. 4

Question Number : 29 Question Id : 6863408627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the use of centering in throwing process?

1. To correct the profile line

(]

. To correct the outside edges
3. To correct the contour edges
4. To change the size

Options :

68634034113. 1
68634034114.2
68634034115. 3
68634034116. 4

Question Number : 29 Question Id : 6863408627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR0 &0 U] B SHgid HRAT G 2
1. UR=sTeent a1 &1 31 B & fag

2. GIe! [HARI 81 HA & ey

3, gHI= (BRI ®l Bl 63+ & (o

4, PR T dga- & AU

Options :

68634034113. 1
68634034114.2
68634034115. 3
68634034116. 4

Question Number : 30 Question Id : 6863408628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
At what speed wheel must run m order to center the clay on the wheel.

1.150 rpm

2.120rp.m

3. 160 rp.m
4. 170 rpan

Options :

68634034117. 1
68634034118. 2
68634034119. 3
68634034120. 4

Question Number : 30 Question Id : 6863408628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg i I gfedr o1 Ofear W g &1 Sisd o SIaiyd S 96U 2

1. 150 RPM.

|

120 EPM.

. 160 BE.PM.

LN ]

4. 170 R.PM.

Options :
68634034117. 1



68634034118. 2
68634034119. 3
68634034120. 4

Question Number : 31 Question Id : 6863408629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Gas Kiln. how much distance should be maintained between two pots / sculptures.

1.51in

“

2.6in
3.1in
4. 21in

Options :

68634034121.
68634034122,
68634034123.
68634034124.

AW N =

Question Number : 31 Question Id : 6863408629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 1! 1, &l & a1 gfdiRied gebTd 9 34 d1d g3l il =gy |
1.5%d

2.65d
3,189
4254

Options :

68634034121. 1
68634034122. 2
68634034123. 3
68634034124. 4

Question Number : 32 Question Id : 6863408630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a non-portable Kiln?

1. Updraft
2. Downdraft
3. Sidedraft
4. (1) and (3) both

Options :

68634034125. 1

68634034126. 2

68634034127. 3
68634034128. 4

Question Number : 32 Question Id : 6863408630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR ggg gl FeliEa da e dig 2
1. 3edarg
2. 3{¢liyarg
3. fpRTaTE
4. (1) AR 3) T

Options :

68634034125. 1
68634034126. 2
68634034127. 3
68634034128. 4

Question Number : 33 Question Id : 6863408631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

After firing once. Green pot is known as.

1. Biscuit ware

12

. Stone ware
3. Earthern ware

4. Oxide ware

Options :
68634034129. 1



68634034130. 2
68634034131. 3
68634034132. 4

Question Number : 33 Question Id : 6863408631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% R Y&HH & dle. 8 gd- &1 oH] Sl 82
1. fafEpe o

EE IR

3. 36 IR

4, HFISS g

b2

Options :

68634034129. 1
68634034130. 2
68634034131. 3
68634034132. 4

Question Number : 34 Question Id : 6863408632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sponge is used in pottery.
1. To remove clay
2. For mopping water from clay
3. To place the pot
4. To keep the clay
Options :
68634034133. 1
68634034134. 2

68634034135. 3
68634034136. 4

Question Number : 34 Question Id : 6863408632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Olet § TS &1 SUgM giaT g 2
1. ffi i gem & fa
e e
3. 9o 3@ & [
B e

Options :

68634034133. 1
68634034134. 2
68634034135, 3
68634034136. 4

Question Number : 35 Question Id : 6863408633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Grog 1s a clay that has been fired.

1. Once

A

2. Twice
3. Thrice
4. None
Options :
68634034137. 1
68634034138. 2

68634034139. 3
68634034140. 4

Question Number : 35 Question Id : 6863408633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U YR &1 gl g ol Ui il § 2
1. TP aR
2.319R
3. dHER

4. dRdR

Options :



68634034137. 1
68634034138. 2
68634034139. 3
68634034140. 4

Question Number : 36 Question Id : 6863408634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Scientific name of silica 1s.

1. $i0,

3. ALO4
4.Pb CO;,

Options :

68634034141. 1
68634034142. 2
68634034143. 3
68634034144. 4

Question Number : 36 Question Id : 6863408634 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fferent &1 agi-iep 10§ 2
1. Si0,

2. B,0,

[FN]

. ALO,
4.Pb CO;

Options :

68634034141. 1
68634034142. 2
68634034143. 3
68634034144. 4

Question Number : 37 Question Id : 6863408635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the alternative name of silica?

1. Silicon oxide

[E)

. Sodium chloride
3. Soda ash

4. Castic soda

Options :

68634034145. 1
68634034146. 2
68634034147. 3
68634034148. 4

Question Number : 37 Question Id : 6863408635 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o

RHfTepT T dehied 10 FT & 2
1. [T sieugs
2. gifguy Hiss
3. IS0y
4, BIRED FIgT

Options :

68634034145. 1
68634034146. 2
68634034147. 3
68634034148. 4

Question Number : 38 Question Id : 6863408636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Whitener which lends hardness to Glaze known as.
1. Caleium sulphate
2. Calcium carbonate

3. Calcium Feldspar

4, Lithium carbonate

Options :
68634034149. 1



68634034150. 2
68634034151. 3
68634034152. 4

Question Number : 38 Question Id : 6863408636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl uar off il &1 Holgdl e $Rdl 5. o oldl
1. By e
2. Pichgy Prai-e
3. BieHgy e wR
4. Tefdmm srae

Options :

68634034149. 1
68634034150. 2
68634034151. 3
68634034152. 4

Question Number : 39 Question Id : 6863408637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Bone Ash i glaze 1s used for.

1. To decrease the temperature

12

. To increase the temperature
3. To melt when temperature 1s increased
4. To melt when temperature is decreased

Options :

68634034153. 1
68634034154. 2
68634034155. 3
68634034156. 4

Question Number : 39 Question Id : 6863408637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i 1 Y 1 BTHIRT RIS 2
1. 199 e & oy
2. AI9EH "gH & forg
3, dI9HH d¢- W UgeH & U

4, TT9HE T2+ R U=

Options :

68634034153. 1
68634034154. 2
68634034155. 3
68634034156. 4

Question Number : 40 Question Id : 6863408638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following used as opacifier in high temperature glaze?

1. Tin oxide

()

. Zinc oxide
3. Boric oxide

4. Rutile

Options :

68634034157. 1
68634034158. 2
68634034159. 3
68634034160. 4

Question Number : 40 Question Id : 6863408638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 9 ifte aroam are e B SR (Ie @) & =9 | Iuan fearomar g 0

1. 3 afieaes
2. i sifaargs

3. GRS idEs

4. 2clgd

Options :



68634034157. 1
68634034158. 2
68634034159. 3
68634034160. 4

Question Number : 41 Question Id : 6863408639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glaze iz use in stone ware.

1. To show different colors

B

. To make it more attractive
3. For scientific purpose
4. To protect the pot and to make it attractive
Options :
68634034161. 1
68634034162. 2

68634034163. 3
68634034164. 4

Question Number : 41 Question Id : 6863408639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR (TR & Fa-) § 0 &1 ST ¢ 2
1. 3TI-3fCH Der feaH |
ST 4 & & fay
a9 Se & fou

4. S0 D1 WRIEG IR Sepitd 991 & e

[ ]

L)

Options :

68634034161. 1
68634034162. 2
68634034163. 3
68634034164. 4

Question Number : 42 Question Id : 6863408640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nizamabad is famous for.
1. Blue Pottery
2. Black Pottery
3. Red Pottery
4. Yellow Pottery
Options :
68634034165. 1
68634034166. 2

68634034167. 3
68634034168. 4

Question Number : 42 Question Id : 6863408640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frommee. sfmue e
1, e giedt
2. Prer gied]
3. T Test
4. Ui gredt
Options :
68634034165. 1
68634034166. 2

68634034167. 3
68634034168. 4

Question Number : 43 Question Id : 6863408641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Taipur iz famous for.
1. Blue Pottery
2. Black Pottery

3. Terracotta

4, Ceramics

Options :
68634034169. 1



68634034170. 2
68634034171. 3
68634034172. 4

Question Number : 43 Question Id : 6863408641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR FfauuiiE e
1, e gredt
T Tles

[ ]

3. gl gl (erehlen)

+. At (R vy

Options :

68634034169. 1
68634034170. 2
68634034171. 3
68634034172. 4

Question Number : 44 Question Id : 6863408642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
K.V Jena i3 a.
1. Pottery artist
2. Pamter

3. Graphic artist

4. Architect

Options :

68634034173. 1
68634034174. 2
68634034175. 3
68634034176. 4

Question Number : 44 Question Id : 6863408642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F. 4L SITE § 2
1. Gl daldR
2. ESR

3. Ufth e HAIPR

4, AGBR

Options :

68634034173. 1
68634034174. 2
68634034175. 3
68634034176. 4

Question Number : 45 Question Id : 6863408643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Growing stones” by P.R Daroz is made up of.
1. Oxidised stoneware
2. Iron oxidised stoneware
3. Nickel oxidised
4. Sodium oxidised
Options :
68634034177. 1
68634034178. 2

68634034179. 3
68634034180. 4

Question Number : 45 Question Id : 6863408643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. R R A AT XA S ERISAE g ?
1. HFESYS ¥H 0

2. ERA AT US WHIR

e N ¥

3. AP Hidggeds

4, ifsTH Hlaqgsds

Options :




68634034177. 1
68634034178. 2
68634034179. 3
68634034180. 4

Question Number : 46 Question Id : 6863408644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"All India studio Pottery Exhibition" was initiated by.

1. P. R. Daroz

[

. Devi Prasad
3. Gurucharan Singh

4, Uma Baker

Options :

68634034181. 1
68634034182. 2
68634034183. 3
68634034184. 4

Question Number : 46 Question Id : 6863408644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iy i Ty

3ifEe Rdig aed feal werlHl fhae g1 uRmy &l it

1. 9%, 3R, 39

2. &l e

3. 7% IR g
4, 3AT AR

Options :

68634034181. 1
68634034182. 2
68634034183. 3
68634034184. 4

Question Number : 47 Question Id : 6863408645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PR Daroz is famous for.
1. Sculpture
2. Pamting
3. Pottery
4. Architecture
Options :
68634034185. 1
68634034186. 2

68634034187. 3
68634034188. 4

Question Number : 47 Question Id : 6863408645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ol SR, RIS U 2

1. Hfciaa

: : %E -1 $ a I

3 ; LY 1

4, FTYcdf el
Options :
68634034185. 1
68634034186. 2

68634034187. 3
68634034188. 4

Question Number : 48 Question Id : 6863408646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Porcelain are fired at.

1. Medium temperature

2

. Slow temperature

L]

. High temperature
4, Normal temperature

Options :
68634034189. 1



68634034190. 2
68634034191. 3
68634034192. 4

Question Number : 48 Question Id : 6863408646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ardfe @ gl o adq) wwar g 0
1. G argHE
2. (= dgEE
3. 9= ArgHH

4. HIHT- dT4HH

Options :

68634034189. 1
68634034190. 2
68634034191. 3
68634034192. 4

Question Number : 49 Question Id : 6863408647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Salt Glazed ware Volatilizes at.
1. 800-900° C
2. 900-1000° C
3. 700-800° C
4, 900-1100° C
Options :
68634034193. 1
68634034194. 2

68634034195. 3
68634034196. 4

Question Number : 49 Question Id : 6863408647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TP Tl gR W aId &I ST g 2

1. 800-900° C

| B}

. B00-1000°C
3. 700-800° C
4, 900-1100°C
Options :
68634034193. 1
68634034194. 2

68634034195. 3
68634034196. 4

Question Number : 50 Question Id : 6863408648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In terracotta and stoneware. cone is used for.

1. To increase the temperature

[ )

. To decrease the temperature
3. To know the temperature

4. To make the kiln

Options :

68634034197. 1
68634034198. 2
68634034199. 3
68634034200. 4

Question Number : 50 Question Id : 6863408648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CABIET R EHAER T "1 (UP)" BT IUURTEIAIE 2
1. doEHE H g & forg
2. AroHT # fiRiae & feg
3. ATIHT S & forg
4, H31 91 & forg

Options :
68634034197. 1



68634034198. 2
68634034199. 3
68634034200. 4

Question Number : 51 Question Id : 6863408649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which device 1s used to know the temperature of the Kiln?

1. Pyrometer

()

. Regulator
3. Controller

4, Thermometer

Options :

68634034201. 1
68634034202. 2
68634034203. 3
68634034204. 4

Question Number : 51 Question Id : 6863408649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y BT ATaHT 194 o (o0 [y IUSHRT &1 SUGRT [T ST § 2
1. GIERITHeR

2. W
3. PTIOR
4. ywfEeR

Options :

68634034201. 1
68634034202. 2
68634034203. 3
68634034204. 4

Question Number : 52 Question Id : 6863408650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Stoneware usually fired at around.

1.1100-1200° C

[ 5]

. 1200-1300° C
3. 1400-1500° C
4. 1150-1250° C

Options :

68634034205. 1

686340342006. 2

68634034207. 3
68634034208. 4

Question Number : 52 Question Id : 6863408650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHAR fda ageH R USE Wi § 2

1. 1100-1200° C

| ]

. 1200-1300° C
3. 1400-1500° C
4. 1150-1250° C

Options :

68634034205. 1
686340342006. 2
68634034207. 3
68634034208. 4

Question Number : 53 Question Id : 6863408651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is minimum thickness of Plaster of paris mould?

1. 2.5 inch

| )

.2 inch
3.1inch
4. 1.5 inch

Options :

68634034209. 1
68634034210. 2



68634034211. 3
68634034212. 4

Question Number : 53 Question Id : 6863408651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WReY AHE U | faal dieTs & 9 ©H giH1 91igu 2
1.25%d

2,289

3.189

4.15%9
Options :
68634034209 1
68634034210. 2

68634034211.3
68634034212. 4

Question Number : 54 Question Id : 6863408652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Plaster alzo known as gypsum is a chemical composition of.

1. Calecium carbonate

1J

. Calerum sulphate
3. Ammonium chloride

4. Aluminium silicate

Options :

68634034213. 1
68634034214. 2
68634034215. 3
68634034216. 4

Question Number : 54 Question Id : 6863408652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@R Ol fogy & =0 & §FT 911 & gt Tamte TE1 g 2
1. iy sEHe
 Hfcqgy gehe

3, SHIFOH WIRES

4. UHfTH foferde

Options :

68634034213. 1
68634034214. 2
68634034215. 3
68634034216. 4

[ ]

Question Number : 55 Question Id : 6863408653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In slip casting mould 1s used in how many parts.

1.2

| )
LTS ]

3.4
4. As per the need

Options :

68634034217. 1
68634034218. 2
68634034219. 3
68634034220. 4

Question Number : 55 Question Id : 6863408653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ey ST (U1 Soaq) il &1 feas ym § efan fpar s 9@ g 2

;2

| B
L5}

3.4
4, ARG HAT F FTER

Options :



68634034217. 1
68634034218. 2
68634034219. 3
68634034220. 4

Question Number : 56 Question Id : 6863408654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Plastic clay can be formed mechanically by process.

1. Extrusion

-2

Jiggering

3. Wedging

i

.Both (1) and (2)

Options :

68634034221. 1
68634034222. 2
68634034223. 3
68634034224. 4

Question Number : 56 Question Id : 6863408654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g faft @ wifes oo &1 9ifie U T granaeR e srars 2

—

sfedeh mae T

[ ]

ASHEUICERE)
AT (Fet @)
4. (1) R 2) S

L& ¥ ]

Options :

68634034221. 1
68634034222. 2
68634034223. 3
68634034224 4

Question Number : 57 Question Id : 6863408655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Clay contains a proportion of.
1. Zinc oxide
2. Iron oxade
3. Magnesium

4. Caleium carbonate

Options :

68634034225. 1
68634034226. 2
68634034227. 3
68634034228. 4

Question Number : 57 Question Id : 6863408655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Pt 7 Sruifies 9 9 9HIied © |
1. foiw eSS

[ S

. TRA ATTSS
3. BTHIRRE
4. By HE-e

Options :

68634034225. 1
68634034226. 2
68634034227. 3
68634034228. 4

Question Number : 58 Question Id : 6863408656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What shape clay takes when it becomes dry?

1. Shrink

| B

. Crack
3. Color change

4. 1and 2

Options :
68634034229. 1



68634034230. 2
68634034231. 3
68634034232. 4

Question Number : 58 Question Id : 6863408656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(P2t g o grd FIE] @19 91 1SR Y80 $=dl ¢ ?
1. s

2. WdH

3. T FeaAm
4. (1) 3R 2) S

Options :

68634034229. 1
68634034230. 2
68634034231. 3
68634034232. 4

Question Number : 59 Question Id : 6863408657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Clay's property of being malleable is known as.

1. Porosity
2. Plasticity
3. Vitrification
4. Deflocculation

Options :

68634034233. 1

68634034234. 2

68634034235. 3
68634034236. 4

Question Number : 59 Question Id : 6863408657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fErgt & WIRd 701 AT S S § |
1. GRE/ g0

i SO i S .
cl

et adtams

| )

L i

o fal Il P e SRR A 7

3.

4, TETiIm AT Srafemfd

Options :

68634034233. 1
68634034234. 2
68634034235. 3
68634034236. 4

Question Number : 60 Question Id : 6863408658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the formula of China clay?
1. Alz 03 5102 EHZ Oz
2. Haz 0].2 03 65102
3. CaO Al,O5 2510,

4. Cucogy CuOH?

Options :

68634034237. 1
68634034238. 2
68634034239. 3
68634034240. 4

Question Number : 60 Question Id : 6863408658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foft it g g 2
1: Alz 03 :‘—3102 :HE 02

2 Hﬂj 012 03 6:'-3102

fad

. Cal “5&1203 15102

4. Cucoy CUoH2



Options :

68634034237. 1
68634034238. 2
68634034239. 3
68634034240. 4

Question Number : 61 Question Id : 6863408659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Alternative name of China clay is.

1. Baryles

12

. Sodium diborate
3. Kaolin
4. Soda Felspar

Options :

68634034241. 1
68634034242. 2
68634034243. 3
68634034244. 4

Question Number : 61 Question Id : 6863408659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fert=meg=T fiE] &1 depfeus 91| 2
1. gRIge
2. gifsgq sgane
3. B3ffe
4. IS PEHIR
Options :
68634034241. 1
68634034242. 2

68634034243. 3
68634034244. 4

Question Number : 62 Question Id : 6863408660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bhitargaon Terracotta Temples are of which time period?

1. Chola
2. Mauryan
3. Gupta
4. Shunga

Options :

68634034245. 1

68634034246. 2

68634034247. 3
68634034248. 4

Question Number : 62 Question Id : 6863408660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iawiia &1 copie] B [ T Sra &1 3 2
1. 91
2. 91

3. 71

4.
Options :
68634034245. 1
68634034246. 2

68634034247. 3
68634034248. 4

Question Number : 63 Question Id : 6863408661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Pottery wheel was early adopted by.
1. Greek
2. Europe
3. India

4. Japan

Options :
68634034249. 1



68634034250. 2
68634034251. 3
68634034252. 4

Question Number : 63 Question Id : 6863408661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ga- g9 arll 9%/ 9fedl & IRy H g gRT 39T |
1. W%

R

3. HIXd

[ S

4. o4

Options :

68634034249. 1
68634034250. 2
68634034251. 3
68634034252. 4

Question Number : 64 Question Id : 6863408662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"Archilles slaying the Amazon Queen" made by Exekias in terracotta. It depicted in which color.

1.Red

[ )

. Yellow
3. Black
4, White

Options :

68634034253. 1
68634034254. 2
68634034255. 3
68634034256. 4

Question Number : 64 Question Id : 6863408662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



\THIST TSI § AN G0 SH el & Talihury gRI §91% e, U% [pa T & weRid oxarg |

1. @d
2. didn
3. Il
4. g

Options :

68634034253. 1

68634034254.2

68634034255. 3
68634034256. 4

Question Number : 65 Question Id : 6863408663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For the first time, Raku pottery was used in.

1. America

12

. China
3. Japan

4. India

Options :

68634034257. 1
68634034258. 2
68634034259. 3
68634034260. 4

Question Number : 65 Question Id : 6863408663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[p dlex] ¥a YyH B8l 9 [6a1 T,
1. HARST
2.9
3. SUHE
4. YRd

Options :
68634034257. 1



68634034258. 2
68634034259. 3
68634034260. 4

Question Number : 66 Question Id : 6863408664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Terracotta Army was excavated around 210 B.C and found in fresh state
Reason R: Terracotta sculptures can kept far long tume.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

|

. Both A and R are true but R 18 NOT the correct explanation of A

. A 1s correct but R is not correct

L]

4. A is not correct but R is correct

Options :

68634034261. 1
68634034262. 2
68634034263. 3
68634034264. 4

Question Number : 66 Question Id : 6863408664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT g FuE T U AFHa § AR R RO T |

am:-rA eYEhIET @ AT SEd Gers e 210 5.9, Eﬁfrm"?.ﬁaﬁaﬁfaa—e&rmma#wgél
el #iGAl @ @3 JAT ds @ A1 Febdl

mﬁmﬁuﬁaﬁzﬁﬁﬁvmmﬁﬁmwgﬁ[

lL.eat AR R o € 3k R, A 1 o carear &
aET AR R T € 3RR. A & TE oo =91 &

[ o]

3.A 9% wifieT R 7eid &
4. A JoiF ofhT R 981 §

Options :

68634034261. 1
68634034262. 2
68634034263. 3
68634034264. 4



Question Number : 67 Question Id : 6863408665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Solid cast moulds are always at least two piece moulds

Reason R: A Jigger mould 1s similar to a solid cast

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 13 NOT the correct explanation of A

3. A is correct but R 1s not correct

4. A is not correct but B is correct

Options :

68634034265. 1
68634034266. 2
68634034267. 3
68634034268. 4

Question Number : 67 Question Id : 6863408665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mo rsaReaw & Asaa L iR R aroT & |
FUA A - TIfoIs &ee #ilos & UIg: & 96 8 g & |
FROT R - oK #iles T o/ &I & T ol & |
SIIEd HUAT & UfFg # A e 7w et #F 9 999 IugEd S g |

BT A 3R R @ § 3R R A carem
2.5 A 3R R @8 £ 3RR, A & w5 e a6 §
3. A @ W R oo ©

4. A 7o AfRT R T8 ¥

—t

Options :

68634034265. 1
68634034266. 2
68634034267. 3
68634034268. 4



Question Number : 68 Question Id : 6863408666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In throwing the clay on the wheel centering is the important part
Reason R:Centering 1s important to keep the balance of the pot
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634034269. 1
68634034270. 2
68634034271. 3
68634034272. 4

Question Number : 68 Question Id : 6863408666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mo rma e i Asmat iR R eRor & |
FUA A - Tih 0T [HEd W S ﬁﬁ#m—ﬂgmﬁﬁqﬁ

%1
B T e S & e e e |
BT A 3R R @ § 3R R A carem
2.5 A 3R R @8 £ 3RR, A & w5 e a6 §
3. A @ W R oo ©

4. A 7Tg o R @er ©

—t

Options :

68634034269. 1
68634034270. 2
68634034271. 3
68634034272. 4

Question Number : 69 Question Id : 6863408667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: 1000°C is the lowest temperature for making a good pot
Reason R: It 1s the temperature of commercial earthenware biscuit
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A

. A 1s correct but R is not correct

L]

4. A is not correct but R is correct

Options :

68634034273. 1
68634034274. 2
68634034275. 3
68634034276. 4

Question Number : 69 Question Id : 6863408667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T sua e E Asua t IR R FROT |

FUA A - H=o gdd g9 & fow =gagd aAE 1000°C ghar §
FROT R . 7% 3 Aar & Bed & oo oo & amma= 81
SIIEd HUAT & Ufa # A9 Gr 7w el # 9 999 sugEd 3w 99 |

lLet AR Raoer £ 3R R A &l o carr &

2.241 A 3t R & € 3t R, A & @l caren a6 &
3.A O @fa R oo ¥
4. A 7ioTg ofha R &8l &

Options :

68634034273. 1
68634034274. 2
68634034275. 3
68634034276. 4

Question Number : 70 Question Id : 6863408668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Barnard clay contains manganese and Iron

Reason R: It is used as a colorant in clay bodies and glazes

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but B is correct

Options :

68634034277. 1
68634034278. 2
68634034279. 3
68634034280. 4

Question Number : 70 Question Id : 6863408668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

do i rum v m t AFua t AR R FROT T |
FUT A - TS TFor A ot JR IR T & |

e e e e e e Y e et g
1.8 A 3R R &6 € 3R R, A & &% @ ®

g A 3R R @@ € HRR, A & w6 o A6

3. A @E e R areid

4. A 7Teig ofeT R 99T ©

1J

Options :

68634034277. 1
68634034278. 2
68634034279. 3
68634034280. 4

Question Number : 71 Question Id : 6863408669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Plasticity is the most important physical property of clay

Reason R: It provides strength and malleability to clay

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R 13 NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634034281. 1
68634034282. 2
68634034283. 3
68634034284. 4

Question Number : 71 Question Id : 6863408669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g eua e i Awua t IR RFROT T |
FUST A - TGOS HE & 998 dAocaqy Hifaw T €

%ﬁﬁﬁﬁﬁ%? i%ﬁﬁ%ﬁﬁ@ﬁ%ﬁmmmqﬁt
2=t A 3T R @@ € 3T R, A &1 wer @

g A 3R R @@ € ARR A f ) cen A6

3. A §ET 9if T R aea

4. A 9Toid ofhT R @81 ©

—t

| ]

Options :

68634034281. 1
68634034282. 2
68634034283. 3
68634034284. 4

Question Number : 72 Question Id : 6863408670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Griven below are two statements: one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A: The oldest terracotta temples are of Gupta period

Reason R: Gupta period terracotta temples are situated at Bhitargaon which are made up of terracotta bricks
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R 18 NOT the correct explanation of A

3. A is correct but R 1z not correct

4. A is not correct but R is correct

Options :

68634034285. 1
68634034286. 2
68634034287. 3
68634034288. 4

Question Number : 72 Question Id : 6863408670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ao FEA T T S AFE § IR R FROT Y |

FUSA A - FIY QAT DT AfGT T Fer bl T |

FROT R : 977 $rel apier Al #fax g o fua €, St exeprer 3¢ & &=
SIRIFT BT & Tfdg # =@ BT 7w Thedl # § ¥ad I9gFT IR I |
ST A 3R R e E 3R R, A &1 W carEm ©

ol A 3R R @8 € 3RR, A & w5 @ A9

3. A @Er AfheT R orera ¥

4. A 9Teid ifhT R 98 &

T

—t

| ]

Options :

68634034285. 1
68634034286. 2
68634034287. 3
68634034288. 4

Question Number : 73 Question Id : 6863408671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For Sculpture mould / casting what is used.

A Water
B. Zinc plate
C.POP
D. Metal
E. Stone

Choose the correct answer from the options given below:
1. A, B only
2. A, Conly
3.C.D only
4.E.D only

Options :

68634034289. 1
68634034290. 2
68634034291. 3
68634034292. 4

Question Number : 73 Question Id : 6863408671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & Hics/ A" & g9 § FEfeiad § o gan fear o g |
A Sd
B. g wie
c. dt.3f gy
D. Uid
E. &R

e &8 o faeredl & Il SR &1 909 &1 |
1. FAAA.B
2. HBAd A, C
3.%adC. D
4 $AAE, D

Options :

68634034289. 1
68634034290. 2
68634034291. 3
68634034292. 4



Question Number : 74 Question Id : 6863408672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are from Prelistoric period

A, Olimec Baby

B. Bhitargaon temples

C. Mother Goddnes

D. Visnupur terracota temples
E. Gorakhpur Terracotta

Choose the correct answer from the options given below:
1. C only
2. Aonly
3.D only
4. C only

Options :

68634034293. 1
68634034294. 2
68634034295. 3
68634034296. 4

Question Number : 74 Question Id : 6863408672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEAYPH S uAERE A aE |

A, AH® adll

B. Hia=iig dfe
c.i}]ﬁé‘cﬁ L
D. [qeqR ¢Piel Hidr
E. TREJR DIl

g 22 ow oedt & 56 3=/ A 99T Y |
1. %dd C
2. Pad A
3.%ad D
4. PadC

Options :
68634034293. 1
68634034294. 2



68634034295. 3
68634034296. 4

Question Number : 75 Question Id : 6863408673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Flint is a pure silica which gives.

A. Whitness
B. Plasticity
C. Density
D. Porosity

Choose the correct answer from the options given below:

1. A only

[ ]

A, C only

L ¥]

.B. C only
4. D only

Options :

68634034297 1
68634034298. 2
68634034299. 3
68634034300. 4

Question Number : 75 Question Id : 6863408673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fieie us g [T § & UeH SRl g |
A ghd]
B. TAl@rg

C. Tl
D. ORT/ T3Sm

e 22 or fAeedt # "8 3= 1 999 FY |
1.%ad A
2. AU A, C
3. 9ddB. C
4, $dd D

Options :
68634034297. 1



68634034298. 2
68634034299. 3
68634034300. 4

Question Number : 76 Question Id : 6863408674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s added to reduce scumming in red clay?

A. Sodium carbonate

B. Barium Carbonate

C. Boric oxide

D. Caleiwn carbonate

E. Magnesium carbonate

Choose the correct answer from the options given below:

1. A. B only

| )

. C only
3. B only
4. C.D only

Options :

68634034301. 1
68634034302. 2
68634034303. 3
68634034304. 4

Question Number : 76 Question Id : 6863408674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IS & (A1 0 T BT (YFHT ) & HH HI/geH & (AU o1 femd S g |

A TOIfETq FEHe
B. dfgm Fraie

C. 9@ FaEe
D. SieH FEHe
E. BTHIRTE sEiHe

ar fgF ow Rwedt # ¥8 I & 99T BT |
1.Had A, B
2. %40 C
3.%auB
4.0 C, D

Options :

68634034301. 1
68634034302. 2
68634034303. 3
68634034304. 4

Question Number : 77 Question Id : 6863408675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Secondary clay are.

A. Refractory
B. Fusible

C. Verifiable
D. Malleable
E. Bendable

Choose the correct answer from the options given below:

1. Aonly

| )

A, B. Conly
3.B. Conly
4.B. C.D only

Options :

68634034305. 1
686340343006. 2
68634034307. 3
68634034308. 4



Question Number : 77 Question Id : 6863408675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el gl g € |
A. et (gilei)

B. WSIEd (THTE-1Y)
c. f[adiitpuad (Fa@T=m)

D, Bt (3TaTaas=i )
E. SS9 (IS
a4 23 9w Odhedl # #5E T=IR F1 999 $1 |
1. ®Had A
2. DA A, B, C
3. HAdB, C

4. FEGAB.C.D

Options :

68634034305. 1
686340343006. 2
68634034307. 3
68634034308. 4

Question Number : 78 Question Id : 6863408676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Temperature for Bisque and stoneware in electric kilns.

AL 900-1000° C
B. 1200-13000° C
C. 950-1250°

D. 1100-1200° C

Choose the correct answer from the options given below:

1. B. Conly

| )

.A. B only
3.A.Donly
4.B.D only

Options :

68634034309. 1

68634034310. 2
68634034311. 3



68634034312. 4

Question Number : 78 Question Id : 6863408676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagga vzl ¥ fos (a1l Jauis ) 3R WHER (WRRHIS) & [au Sfka aaF § |

AL S00-1000° C
B. 1200-1300° C
C. 950-1250°C
D. 1100-1200° C

d 23 v Beed & g8 I & 99T $L |
1. HadB. C
2. AU A, B
3. PIAA.D
4.%adB. D

Options :

68634034309. 1
68634034310. 2
68634034311. 3
68634034312. 4

Question Number : 79 Question Id : 6863408677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Pot with sculpted Shaman Head" is in.

A. National Museums Denmark

B. Museum of Fine Arts, Boston. US
C. Museum of Fine Arts, Houston US
D. National Museum of Art. Romania

Choose the correct answer from the options given below:

1. A only

2.B only

3. C only
4. D only
Options :

68634034313. 1
68634034314. 2



68634034315. 3
68634034316. 4

Question Number : 79 Question Id : 6863408677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRIRI BU HHG IR $ 1Y §a-" Hel afd § |

A YT GBI, SHISD

B. BI5 3¢ GUeTay. §1%c. 30T
C. T2 T TUBTE, g%, 3Rkl
D. AP Pl FUeTery. 11

A 23 77 fasedl & "E 3R R 99 & |
1.ad A
2, Had B
3. %adc

4. Hgd D

Options :

68634034313. 1
68634034314. 2
68634034315. 3
68634034316. 4

Question Number : 80 Question Id : 6863408678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Satish Chandra

B. Primula Pandit

C. Ira Chaudhur

D. Lydia Mehata

E. Nirmala Patwarthan

Choose the correct answer from the options given below:

1.D.C.E.B.A

[ )

A IR E BLA
3. C.ED.B.A
4. B.A.D.E.C
Options :

68634034317. 1
68634034318. 2



68634034319. 3
68634034320. 4

Question Number : 80 Question Id : 6863408678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A FdI¥ g=]
B. Tugan dfsd
C. X7 Al

. fafsa dgar
E. Frfar geass

a1 5d ow Aol # ¥ 3T’ B 994 Y |

1.D,C.E.B.A

| )

1B E B A
3CEDBA
4. B.A.D.E.C

Options :

68634034317. 1
68634034318.2
68634034319. 3
68634034320. 4

Question Number : 81 Question Id : 6863408679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Shore temple

B. Mother goddess

C. Bhitar goan temples

D. Kandariya Mahadeva temple
E. Modhera Sun temple

Choose the correct answer from the options given below:

1.B.D.A.C.E

| )

AB. D CE
3.B.C.D.E.A
4. C.E.B.D;A

Options :

68634034321. 1

68634034322. 2
68634034323. 3



68634034324. 4

Question Number : 81 Question Id : 6863408679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TR AR

B. HIq <dl

. Hir g Afex

D. BN AET3d HiE
E. W1 9 Hfdw

dr 22 9w Baedl & "8 IT F 994 B |
1.B.D.A,.C.E
2.A.B.D.C.E
3B.C.D.EA
4 BB B ThA

Options :

68634034321. 1
68634034322, 2
68634034323. 3
68634034324. 4

Question Number : 82 Question Id : 6863408680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Turning
B. Wedging
C. Throwing
D. Moulding
E. Firing

Choose the correct answer from the options given below:

1.A.B.C.E.D
2Z.B.DLAEC
3. B.C.A.D.E
4. C.B.A.D.E

Options :

68634034325. 1

68634034326. 2

68634034327. 3
68634034328. 4



Question Number : 82 Question Id : 6863408680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Tl WReT

B. AfolT/ SId eET
C. YISt &quy

D. Aifeg e

E. BIaia) 9=l

F=r &3 v Ooedl & "8 3T o 999 &1 |
1.A,B.C.E.D
2B.DLAE.C
3.B.C.AD.E
4. C.B.A.D.E

Options :

68634034325. 1
68634034326. 2
68634034327. 3
68634034328. 4

Question Number : 83 Question Id : 6863408681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Throwing

B. Centering

C. Opening the clay ball
D. Pulling cylinder up
E. Shaping

Choose the correct answer from the options grven below:

1A CBDE
2.AB.C.DE
3.A,B.D,.C.E
4.B.C.D.A.E

Options :

68634034329. 1

68634034330. 2

68634034331. 3
68634034332. 4



Question Number : 83 Question Id : 6863408681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 84T

B. Baiayd Bl

C. o 91d D Wil

D. §TTHR HHFH FIAT
E. H{THR 1

< g ow RAoedl # @EL TR @ 994 oY |

1.A.€C.B.DE

[ )

_A.B.C.D.E
3.A.B.D.C.E
4B.C,D.A.E

Options :

68634034329. 1
68634034330. 2
68634034331. 3
68634034332. 4

Question Number : 84 Question Id : 6863408682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Firing
B. Clay
C. Wheel
D. Tool
E. Kilns

Choose the correct answer from the options given below:

1.C.B.D.E.A

| )

B C D BGA
3. B.D.CEA
4. A B.C.DE

Options :

68634034333. 1
68634034334. 2
68634034335. 3
68634034336. 4



Question Number : 84 Question Id : 6863408682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, BN 9HHET
B. gl

C. gl
D. 34U

E. Wg!
< g ow RAoedl # @EL TR @ 994 oY |

1.C,B.IDEA

[ %)

B D EA
3.8 DL, 8A
4.8 B 5 DB

Options :

68634034333. 1
68634034334. 2
68634034335. 3
68634034336. 4

Question Number : 85 Question Id : 6863408683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Bottle stoneware - Gurucharan Singh
B. Vessel. salt Glazed - Kristine Michael
C. Stone ware - Primula Pandit

D. Growing stones - P. R Daroz

E. Skarpsalling Bowl - Pre historic

Choose the correct answer from the options given below:
LE.B.C.D,A
2o A DBCGE
3. E.A'D.B.C

4. E.C.D.B.A

Options :

68634034337. 1
68634034338. 2
68634034339. 3
68634034340. 4



Question Number : 85 Question Id : 6863408683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Sicd, €T aR - THa-A g

B. 994, Hiee TWUlS - b4 aIsad
C. ¥H 99 - Tugen ufsa

D. TS & - 1. R, &Rl

E. TR 8130 - THIfeTiie oa

< g ow RAoedl # @EL TR @ 994 oY |

1.E.B.C.D.A
2.A.D.B.C.E
3.E.A.D.B.C
4. E.C.D.B.A

Options :

68634034337. 1
68634034338. 2
68634034339. 3
68634034340. 4

Question Number : 86 Question Id : 6863408684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Firing

B. Throwing
C. Lather Hard
D. Green Pot
E. Glazing

Choose the correct answer from the options given below:

1.A.B.C.D.E

| )

CAE D CA
3B, C.DAE
4.8, C, D, EA

Options :

68634034341. 1
68634034342. 2
68634034343. 3
68634034344. 4



Question Number : 86 Question Id : 6863408684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A STAFTISHH

B. UlST &gur

C. X TS

D. #iH Ule/ o= ad
E. Telfefi

S BF 7 Aedl # HEL TR #9949 & |

1L.AB.CDE

[ B}

A B G A
3. B.C,D.AE
4. B C.ILE A
Options :
68634034341. 1
68634034342. 2

68634034343. 3
68634034344. 4

Question Number : 87 Question Id : 6863408685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: In preparation of stoneware clay China clay plays an important role

Statement II: Like red clay, China clay is also available in all types of regions

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I i3 correct but Statement II is incorrect

4. Statement I is incorrect but Statement I is correct

Options :
68634034345. 1
68634034346. 2



68634034347. 3
68634034348. 4

Question Number : 87 Question Id : 6863408685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;ﬁaﬁfﬂa&wm%

R“l?—[ﬁ?ﬁﬁﬁtﬂdqmmwﬁmﬁcﬂﬁxﬁ?ﬁﬁtﬁﬁaﬁqﬁaﬁﬁzﬂ%|
a?smll oel e, S el fredr A oRe wraE & @l St & suerey g €
ST B & Ufed # A9 2T 9w feed # J TR IUET 3 99 |

1.2 &9 | 9 &9 Il 981 &

2.2 wu la &g llaeg &

L]

. FUA | TE o wueT ll Ieg &
4. wue | 9Teid oifchad suT T8l &

Options :

68634034345. 1
68634034346. 2
68634034347. 3
68634034348. 4

Question Number : 88 Question Id : 6863408686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Grog is a clay that has been fired once

Statement IT: Addition of Grog reduces shrinkage and eracking

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement II is correct

Options :

68634034349. 1
68634034350. 2
68634034351. 3
68634034352. 4



Question Number : 88 Question Id : 6863408686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 sy Br 7w §:

FUd | . 7197 TH TR HI FHgd ¢ AE T an uaEn I © O

Fue |l - 3T & Fao el & Bgsa 3R a/eiR s § ganar §

SR HAAT F Ufda 7 A By aw fepedt & @ wE IEd I A |
La= ®uw | g &9 1l €67 §

2. 59 w9 lawu=s llaeg ©

3. ®Ya | e o wue ll oeig &
4. &U | 7Teg wifeh Fu=T 1987 &
Options :
68634034349. 1
68634034350. 2

68634034351. 3
68634034352. 4

Question Number : 89 Question Id : 6863408687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Moulds are of 2 types
(1) Piece mould

(2) Mother mould
Statement IT: Mould process is necessary in making sculpture

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :
68634034353. 1



68634034354. 2
68634034355. 3
68634034356. 4

Question Number : 89 Question Id : 6863408687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== aT FuT fgw 7w £
. oS (S/=T) UG- g Wk & Big © | (1) ¥ #es (2) #icL #Ales
Eﬁall Afcwen & #les (A1) TH J9TH R
SR FU & ofFg & 49 By mn‘fﬁaTﬂﬂ'aﬁ'ﬂ'fﬁﬁi_gggg{ﬁ_gﬁg T4 |
1. wuw | @ &9 || 9o &

2.2 wmu |a Bl 7o &

3. ®ua | 98 dfee wae ll oeg &
4 =y | 7o g o s o &
Options :
68634034353, 1
68634034354, 2

68634034355. 3
68634034356. 4

Question Number : 90 Question Id : 6863408688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gold chloride mixed with tin chloride gives tints vary from pink to purple

Statement IT: Silver chloride gives a beautiful yellow in low temperature glazes

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634034357. 1
68634034358. 2
68634034359. 3



68634034360. 4

Question Number : 90 Question Id : 6863408688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= & 7y fegw ow £
FUA | - o5 FONISS B o7 RIS & B W aerdr & S fr At e wa e §
wue || - Reay Foivss @ diga= & o & 3= Ulell W1 Ul &al & |
SR HUAT & Ufda 7 A= Ry aw fpedl # d wER I9Ed IR A |
1.3 wuw | @ &= || 981 §
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Options :
68634034357. 1
68634034358. 2

68634034359. 3
68634034360. 4

Question Number : 91 Question Id : 6863408689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Gurucharan Singh. is a ceramic artist

Statement II: Blue Pottery in Delhi was started by Gurucharan Singh

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are correct

2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement I1 1s incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634034361. 1
68634034362. 2
68634034363. 3
68634034364. 4

Question Number : 91 Question Id : 6863408689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634034361. 1
68634034362. 2
68634034363. 3
68634034364. 4

Question Number : 92 Question Id : 6863408690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Optical pyrometer are accurate method of reading heat during a salt or wood fire

Statement IT: They have a large red number for every degree of temperature

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

2. Both Statement [ and Statement IT are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634034365. 1
68634034366. 2
68634034367. 3
68634034368. 4

Question Number : 92 Question Id : 6863408690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634034365. 1
68634034366. 2
68634034367. 3
68634034368. 4

Question Number : 93 Question Id : 6863408691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Mother Goddess from Harappa is in National Museum. Delhi

Statement IT: In Harrappa pinching method was used for terracotta sculptures

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct

2. Both Statement [ and Statement IT are incorrect

3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634034369. 1
68634034370. 2
68634034371. 3
68634034372. 4



Question Number : 93 Question Id : 6863408691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634034369. 1
68634034370. 2
68634034371. 3
68634034372. 4

Question Number : 94 Question Id : 6863408692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST 1 LISTII
A toy terracota cart | I | Gupta Peniods
Bhitargaon temple | II. | Harappa
Mother Goddness | [T | Mohenjo-daro
The Terracota Army| IV. | China

o|o[w[>

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

{ B

. A-IILL B-1. C-IL. D-I
3. A-IL. B-1II. C-I, D-IV
4. A-IV, B-111, C-1, D-II

Options :

68634034373. 1
68634034374. 2
68634034375. 3
68634034376. 4

Question Number : 94 Question Id : 6863408692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AT 161 T 1 4 e o
T 1 T 1
A [T RedH @1y | L fra a1
B. [Hiae 71ld #i= IL [estar
C. [agad 1L [Higigs!
D. [eX0&1el I V. [@H
fafaiad fasedl o 3 5t SR &1 997 ST -

1. A-I B-II. C-III. D-IV

| B

. A-IIL B-1, C-II. D-IV
3. A-IL. B-111. C-1, D-IV
4. A-IV, B-111. C-1, D-11

Options :

68634034373. 1
68634034374. 2
68634034375. 3
68634034376. 4

Question Number : 95 Question Id : 6863408693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LIST 11
A | Cobalt T [ALO, 5i0, 2H,0
B. |Alumina 1I. | B20Os
C. | China clay I1I | CaCoy
D. |Boric oxide | IV [AL;O;

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV. D-I

2

 A-I, B-II, C-III, D-IV
3. A-IIL B-IV. C-1, D-II
4. A-IIL B-IV. C-II. D-I

Options :

68634034377. 1
68634034378. 2
68634034379. 3
68634034380. 4



Question Number : 95 Question Id : 6863408693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 161 T 1 4 e o
a1 T 11
A loace 1 JALO; Si0, 2H,0)
B. [TgiHT 1. [B20;
i mgq-.a%ﬁﬁ:ﬁm:cﬁ) 111 |CoCoy
D. [@R® AIFES V. |ALO;
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1. A-II. B-1II. C-IV. D-I

| B

CA-L B C-IIIL D-IV

CA-IL B-IV, C-1L D-IT

[ ¥]

4. A-IIT, B-IV. C-IL. D-I

Options :

68634034377. 1
68634034378. 2
68634034379. 3
68634034380. 4

Question Number : 96 Question Id : 6863408694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I
A |Felspar 1. | Cellular silica
BE. | Bentonite II. | Hardness and Density
C. | Nepheline syenite | IT1. | Super plastic clay
D. | Kieselgulr IV. | Form of Felspar

Choose the correct answer from the options given below:

1. A-II. B-IV, C-1. D-III

{ B

. A-IL B-IIL, C-I. D-IV
3. A-IL B-L. C-IIL, D-IV
4. A-IL. B-IIL. C-IV. D-I

Options :
68634034381. 1



68634034382. 2
68634034383. 3
68634034384. 4

Question Number : 96 Question Id : 6863408694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 11 T 11 3 e o3
g1 At 11
A [beEuR I [Ceger R
B. [§HEe 11. [B3RAl 3R Tu-d]
C. [HedE ToEe 1L [sraida o He)
D. [BIdiR V. [(5eHUR @1 YR

frafafad ool § O 98] SR &1 994 i -

1. A-II. B-IV, C-L. D-III

| B}

A-IL B-1IL. C-L. D-IV
3. A-IL B-L. C-1IL, D-IV
4. A-IL B-IIL. C-IV, D-I

Options :

68634034381. 1
68634034382. 2
68634034383. 3
68634034384. 4

Question Number : 97 Question Id : 6863408695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I LISTII
Terracotta I |1000° C
Ceramic 1. | Cupraus oxide

Bisqueting III | 800°-900 C
Copper oxade | IV | 1200-1300° C

o o]w[>

Choose the correct answer from the options given below:

1. A-I B-III. C-IV. D-II

| B

AL B-IV. C-1. D-11
3. A-IIL B-IV. C-11, D-I
4. A-I. B-1I. C-II1, D-1

Options :

68634034385. 1
68634034386. 2
68634034387. 3
68634034388. 4

Question Number : 97 Question Id : 6863408695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 161 T 1 4 e o
T I Gl
A. [em@re I |tooosc
B [quffie 11 [euy sieass
C. [ffEnid 1. [g00°-900° C
D. [@IR &zs | v, [1200-1300° €
frafeiad fowe ¥ 3 9t SR &1 907 P -

1. A-I B-IIIL. C-IV. D-II

| B

AL B-TIV. C-1. D-II
3. A-IIL, B-IV. C-II. D-I
4. A-I. B-1I. C-III, D-IV

Options :

68634034385. 1
68634034386. 2
68634034387. 3
68634034388. 4



Question Number : 98 Question Id : 6863408696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1 LISTIT
A | Plastic clay [ | Wedging
B |Clay IT. | China clay
C. | Residual Kaolin 101 | Slip glazes
D. | Common surface clay | IV. | Jiggenng

Choose the correct answer from the options given below:

1. A-IV. B-I. C-1I. D-III

| B

AL BAIL C-1, D-IV
3. A-L. B-IIL C-III, D-IV
4. A-II. B-III. C-IV. D-I

Options :

68634034389. 1
68634034390. 2
68634034391. 3
68634034392. 4

Question Number : 98 Question Id : 6863408696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 161 T 1 4 e o
Gl T I
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1. A-IV, B-I, C-1I. D-III

| B

AL BAIL C-1 D-IV
3. A-L. B-IL. C-III, D-IV
4. A-1L. B-IIL. C-IV. D-I

Options :

68634034389. 1

68634034390. 2
68634034391. 3



68634034392. 4

Question Number : 99 Question Id : 6863408697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I LISTII
A | Zinc oxide 1. | Black iron oxide
B. | Tm oxtde II. | Pink cast
C. | Talc II1. | Soapstone
D. [ Magnitite IV. | Whitener

Choose the correct answer from the options given below:

1. A-IT. B-1. C-IV. D-III

| B

CA-IV. B-1I, C-III, D-1
3. A-L. B-IIL C-III, D-IV
4. A-IV. B-1. C-11. D-III

Options :

68634034393. 1
68634034394. 2
68634034395. 3
68634034396. 4

Question Number : 99 Question Id : 6863408697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT 161 T 1 4 e o
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1. A-II. B-I. C-IV, D-III
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| S

CA-IV. B-I1, C-1I1, D-1
3. A-L, B-II. C-III, D-IV
4. A-IV, B-1, C-I1, D-II1

Options :



68634034393. 1
68634034394. 2
68634034395. 3
68634034396. 4

Question Number : 100 Question Id : 6863408698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Haniwa 1. | Chattisgarh
The terracotta Army 1I. | Gorakhpur
Uttar Pradesh terracotta | II1. | Japan
Baster terracotta IV | China

o|o]w[>

Choose the correct answer from the options given below:

1. A-ITL B-IV. C-1. D-II

| B

A-TIL B-IV. C-1I. D-1
3. AL B-IL. C-IV. D-I
4. A-IIL. B-1. C-IV, D-II

Options :

68634034397. 1
68634034398. 2
68634034399. 3
68634034400. 4

Question Number : 100 Question Id : 6863408698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-IV. C-1. D-IT

Olo|w|=

2. A-III. B-IV. C-II. D-I
3. A-IIL B-II. C-1V. D-1
4. A-IIL, B-1. C-IV, D-II

Options :

68634034397. 1
68634034398. 2
68634034399. 3
68634034400. 4



